Celkové vysledky

okresni kolo PS

08. 06. 2013 Sobeéslav
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7 |Pikov 29,52 2160,17] 1]69,54 1] 159,23 1 |Pikov 29,52| 2160,17| 1]|69,54 1 41 1
6 |Stoklasna Lhota 27,84 1164,89] 2|79,15 5] 171,88 2 |Stoklasna Lhota 27,84 1|64,89| 2|79,15 5 8] 2
8 [Mutice 34,56| 4]|67,93] 7|79,90 6] 182,39 3 |Zarybniéna Lhota 37,45| 5|66,69| 3|78,49 4 121 3
3 |Zarybni¢na Lhota 37,45| 5]|66,69| 3|78,49 4] 182,63 4 [Makov 77,40| 8|66,77| 4]|76,62 2 14] 4
1 [vesce 42.92| 7|67,87| 6]78,35 3] 189,14 5 |Drhovice 33,66 3|67,43| 5[92,81 8] 16] S
9 [Drhovice 33,66] 3|67,43] 5[92,81 8] 193,90 6 [Vesce 42 92| 7|67,87] 6]78,35 3] 16] 6
4 |Bezdscin 37,89 6/77,05] 8|84,98 7] 199,92 7 IMutice 34,56 4|67,93] 7]79,90 6] 17] 7
2 |Makov 77,40 8|66,77| 4|76,62 2] 220,79 8 |Bezdécin 37,89 6]77,05| 8]|84,98 7 21 8
5 |Slapy DNF| 9] DNF| 9| DNF 9] 999,00 9 [Slapy DNF| 9| DNF| 9| DNF 9 271 9
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2 [Smrkov 39,19 2|80,84| 3]86,70 2] 206,73 1 |Bechyne 37,90{ 1]77,03] 2|94,34 3 6] 1
4 |Bechyné 37,90 1]|77,03] 2|94,34 3] 209,27 2 [Moraveé u M. Vozice DNF| 4]|75,39| 1| 86,23 1 6] 2
5 INové Dvory 40,08| 3]|82,17| 4]96,89 4] 219,14 3 |Smrkov 39,19] 2/80,84| 3]|86,70 2 71 3
3 [Moraveé u M. VoZice DNF| 4|75,39| 1] 86,23 1] 999,00 4 [Nové Dvory 40,08 3|82,17| 4|96,89 4 11 4
1 |Ustrasice DNF| 5| DNF| 5| DNF 5] 999,00 5 |Ustrasice DNF| 5| DNF| 5| DNF 5 15 5




